
NOREEN MANAGERIAL ACCOUNTING FOR MANAGERS 2E
Practice Exam – Chapter 11
Print these pages. Answer each of the following questions, explaining your answers or showing your work, as appropriate, and then compare your solutions to those provided at the end of the practice exam.

1. What is a balanced scorecard?  Define the four performance measures used in the balanced scorecard approach.
2.
The Northwestern Division of Brill, Inc. recorded operating data as follows for the past year. 

	Average operating assets 
	$250,000

	Net operating income 
	 59,500

	Sales 
	   425,000

	Stockholders’ equity 
	175,000

	Minimum required rate of return
	12%



(a) Compute the division’s margin.

(b) Compute the division’s turnover.

 (c) Compute the division’s return on investment.


(d)  Compute the division’s residual income.
3.
Campton Company has recorded the following information about the results of its operations for the first quarter:
	
	Total Company
	Eastern Division
	Western Division 

	Sales revenues
	$220,000
	$ 80,000
	$140,000

	Variable cost of sales
	$  70,000
	30,000
	   40,000

	Fixed costs:
	
	
	

	    Common
	$100,000
	20,000
	80,000

	    Traceable
	$  65,000
	25,000
	40,000




Prepare a segmented income statement for the quarter and comment on the results.
NOREEN MANAGERIAL ACCOUNTING FOR MANAGERS 2E
Practice Exam – Chapter 11 Solutions

1.
Solution (Learning Objective 4):

A balanced scorecard consists of an integrated set of performance measures that are derived from and support the company’s strategy. Under the balanced scorecard approach, top management translates its strategy into performance measures that employees can understand and influence.   
Performance measures used in the balanced scorecard approach fall into the four groups:

· Financial: "Has our financial performance improved?"

· Customer: "Do customers recognize that we are delivering more value?"

· Internal Business Processes: "Have we improved key business processes so that we can deliver more value to customers?"

· Learning and Growth: "Are we maintaining our abilityto change and improve?"

2.
(a) Solution (Learning Objective 2):

The margin is calculated as follows: 

Margin = Net operating income (NOI) ÷ Sales = $59,500 ÷ $425,000 = 14%

(b) Solution (Learning Objective 2):

The turnover is calculated as follows: 

Turnover = Sales ÷ Average operating assets = $425,000 ÷ $250,000 = 1.7

(c) Solution (Learning Objective 2):
The return on investment (ROI) is calculated as follows: 

ROI = Margin x Turnover = 14% x 1.7 = 23.8%

(d) Solution (Learning Objective 3):

Residual income is calculated as follows: 

Residual income = NOI – (Ave. operating assets x Min. required rate of return) =



$59,500 – ($250,000 x 12%) = $29,500
3.
Solution (Learning Objective 1):

	
	Total Company
	Eastern

Division 
	Western Division

	Sales revenues
	$220,000
	$ 80,000
	$140,000

	Variable cost of sales
	    70,000
	   30,000
	    40,000

	Contribution margin
	150,000
	50,000
	100,000

	Less traceable fixed costs
	    65,000
	   25,000
	    40,000

	Segment margin
	85,000
	$ 25,000
	$  60,000

	Less common fixed costs
	  100,000
	
	

	Net operating loss
	($15,000)
	
	


Since common fixed costs are not traceable to the divisions, they should not be included in segment margins.  The company’s divisions have positive segment margins, but as a whole the company has a net operating loss for the quarter due to the significant amount of common fixed costs.  The company needs to increase its revenues and/or decrease its costs (particularly fixed costs) to generate positive operating income for the company as a whole.
